

## AN INTEGRATION FORMULA FOR ANALOGUE OF WIENER MEASURE AND ITS APPLICATIONS

KUN SIK RYU\*

ABSTRACT. In this note, we will establish the integration formulae for functionals such as  $F(x) = \prod_{j=1}^n x(s_j)^2$  and  $G(x) = \exp\{\lambda \int_0^t x(s)^2 dm_L(s)\}$  in the analogue of Wiener measure space and using our formulae, we will derive some formulae for series.

### 1. Introduction

From Brown's finding for the moving of small particle in water and Einstein's suggestion for it, Wiener established the existence theorem of a probability measure  $m_w$  on  $C_0[0, t]$ , the space of all real-valued continuous functions on a closed interval  $[0, t]$  that vanish at the origin, the so-called Wiener space in 1923 [11]. Since then, the many new problems in mathematics arose from the study of Wiener space and it was one of the starting points of surprising development in mathematics.

But, the theory of Wiener measure space is a theory of a single particle, merely. The author and Dr. Im hoped to make a measure theory on many particles moving along the law of Brownian motion, so we presented the definition and theories of analogue of Wiener measure space since 2002 [3, 4, 5, 6, 7, 8, 9, 10].

The researchers who studied either the Wiener measure space or the analogue of Wiener measure space, met frequently evaluation problems of integral for functionals on these spaces and sometimes, this calculation problems are not easy. In this note, we will derive the integration formulae for functionals such as  $F(x) = \prod_{j=1}^n x(s_j)^2$  and  $G(x) = \exp\{\lambda \int_0^t x(s)^2 dm_L(s)\}$  in the analogue of Wiener measure space and using our formulae, we will derive some formulae for series.

---

Received July 28, 2010; Accepted November 09, 2010.

2010 Mathematics Subject Classification: Primary 28C20.

Key words and phrases: Wiener measure space, analogue of Wiener measure space, Dirichlet's integral, the generalized Fernique theorem, translation theorem.

This paper was supported by the Research Fund in Hannam University in 2010.

## 2. Preliminaries

In this section, we give some notations, definitions and well-known facts which are needed to understand the next main section.

**A.** We let  $(-1)!! = 1!! = 1$ ,  $(2n)!! = (2n)(2n-2)\cdots 2$  and  $(2n-1)!! = (2n-1)(2n-3)\cdots 3\cdot 1$  for a natural number  $n$ . Let  $\prod_{p=k}^n c_p = c_k c_{k+1} \cdots c_n$  whenever  $n \geq k$  and let  $\prod_{p=k}^n c_p = 1$  whenever  $n < k$ .

**B.** By the elementary calculus for integral and the properties of Gamma functions, for a positive real number  $A$  and for a non-negative integer  $m$ , we have the following equality.

$$\begin{aligned}
 (2.1) \quad & \int_{\mathbb{R}} \frac{1}{\sqrt{2\pi A}} u^m \exp\left\{-\frac{(u-u_0)^2}{2A}\right\} dm_L(u) \\
 &= \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \binom{m}{2k} A^k (2k-1)!! u_0^{m-2k} \\
 &= \sum_{k=0}^{\lfloor \frac{m}{2} \rfloor} \frac{m! A^k}{(m-2k)!(2k)!!} u_0^{m-2k}.
 \end{aligned}$$

Here  $\lfloor \cdot \rfloor$  is the Gauss symbol.

**C.** Using Dirichlet's integral in [2] and the change of variables theorem, we can show the following equality.

$$\begin{aligned}
 (2.2) \quad & \int_{\Delta_n^t} \prod_{j=1}^n (s_j - s_{j-1})^{k_j} d\left(\prod_{j=1}^n m_L\right)(s_1, s_2, \dots, s_n) \\
 &= t^{n+\sum_{j=1}^n k_j} \frac{\prod_{j=1}^n k_j!}{(n+\sum_{j=1}^n k_j)!}.
 \end{aligned}$$

where  $k_1, k_2, \dots, k_n$  are all non-negative integers,  $\Delta_n^t = \{(s_1, s_2, \dots, s_n) \mid 0 < s_1 < s_2 < \dots < s_n \leq t\}$  and  $s_0 = 0$ .

**D.** For a natural number  $n$ , we let

$$\begin{aligned}
 (2.3) \quad & \sum'_{k,n} p(k_1, k_2, \dots, k_n) \\
 &= \sum_{k_n=0}^1 \sum_{k_{n-1}=0}^{2-k_n} \sum_{k_{n-2}=0}^{3-k_n-k_{n-1}} \cdots \sum_{k_1=0}^{n-\sum_{j=2}^n k_j} p(k_1, k_2, \dots, k_n).
 \end{aligned}$$

For  $1 \leq u \leq n - 1$ ,  $k_{n-u}$  moves from 0 to  $(u + 1) - \sum_{p=1}^u k_{n-(p-1)}$ , so  $(u + 2) - \sum_{p=1}^{u+1} k_{n-(p-1)} = [(u + 1) - (\sum_{p=1}^u k_{n-(p-1)}) - k_{n-u}] + 1 \geq 1$ . Hence  $2 - k_n, 3 - (k_n + k_{n-1}), \dots, n - \sum_{p=2}^n k_p$  are all large than or equal 1 which implies that  $\sum_{k,n} p(k_1, k_2, \dots, k_n)$  is well-defined.

**E.** For a positive real number  $t$ , let  $C[0, t]$  be the space of all real-valued continuous functions on a closed bounded interval  $[0, t]$  with the supremum norm  $\| \cdot \|_\infty$ . By the Stone-Weierstrass theorem,  $(C[0, t], \| \cdot \|_\infty)$  is a real separable Banach space.

Let  $n$  be a non-negative integer. For  $\vec{t} = (t_0, t_1, \dots, t_n)$  with  $0 = t_0 < t_1 < \dots < t_n \leq t$ , let  $J_{\vec{t}}: C[0, t] \rightarrow \mathbb{R}^{n+1}$  be a function with

$$J_{\vec{t}}(x) = (x(t_0), x(t_1), \dots, x(t_n)) .$$

For  $B_j$  ( $j = 0, 1, 2, \dots, n$ ) in  $\mathcal{B}(\mathbb{R})$ , the set of all Borel subsets of  $\mathbb{R}$ , the subset  $J_{\vec{t}}^{-1}(\prod_{j=0}^n B_j)$  of  $C[0, t]$  is called an interval and let  $\mathcal{I}$  be the set of all intervals. For a non-negative finite Borel measure  $\varphi$  on  $(\mathbb{R}, \mathcal{B}(\mathbb{R}))$ , we let

$$\begin{aligned} (2.4) \quad & m_\varphi(J_{\vec{t}}^{-1}(\prod_{j=0}^n B_j)) \\ &= \int_{B_0} \left[ \int_{\prod_{j=1}^n B_j} W(n + 1; \vec{t}; u_0, u_1, \dots, u_n) d \prod_{j=1}^n m_L(u_1, \dots, u_n) \right] \\ & \quad d\varphi(u_0) \end{aligned}$$

where

$$\begin{aligned} & W(n + 1; \vec{t}; u_0, u_1, \dots, u_n) \\ &= \left( \prod_{j=1}^n \frac{1}{\sqrt{2\pi(t_j - t_{j-1})}} \right) \exp\left\{ -\frac{1}{2} \sum_{j=1}^n \frac{(u_j - u_{j-1})^2}{t_j - t_{j-1}} \right\} . \end{aligned}$$

Then  $\mathcal{B}(C[0, t])$ , the set of all Borel subsets in  $C[0, t]$ , coincides with the smallest  $\sigma$ -algebra generated by  $\mathcal{I}$  and there exists a unique positive measure  $\omega_\varphi$  on  $(C[0, t], \mathcal{B}(C[0, t]))$  such that  $\omega_\varphi(I) = m_\varphi(I)$  for all  $I$  in  $\mathcal{I}$ .

Using the change of variables theorem, we can prove the following theorem.

**THEOREM 2.1.** *(The Wiener integration formula) If  $f : \mathbb{R}^{n+1} \rightarrow \mathbb{C}$  is a Borel measurable function, then the following equality holds.*

$$\begin{aligned}
 (2.5) \quad & \int_{C[a,b]} f(x(t_0), x(t_1), \dots, x(t_n)) \, d\omega_\varphi(x) \\
 & \stackrel{*}{=} \int_{\mathbb{R}^{n+1}} f(u_0, u_1, \dots, u_n) W(n+1; \vec{t}; u_0, u_1, \dots, u_n) \\
 & \quad d\left(\prod_{j=1}^n m_L \times \varphi\right)((u_1, u_2, \dots, u_n), u_0)
 \end{aligned}$$

where  $\stackrel{*}{=}$  means that if one side of 2.5 exists then both sides exist and the two values are equal.

In [4], we can find the following theorem.

**THEOREM 2.2.** *(The translation theorem on  $(C[0, t], \mathcal{B}(C[0, t]), \omega_\varphi)$ ) Let  $h$  be in  $C[0, t]$  and of bounded variation. Let  $\alpha$  be in  $\mathbb{R}$  and let  $x_0(s) = \int_0^s h(u) dm_L(u) + \alpha$  for  $0 \leq s \leq t$ . Let  $L : C[0, t] \rightarrow C[0, t]$  be a function with  $L(x) = x + x_0$  and let  $\varphi$  be a probability measure on  $(\mathbb{R}, \mathcal{B}(\mathbb{R}))$ . Let  $\varphi_\alpha$  be a measure on  $(\mathbb{R}, \mathcal{B}(\mathbb{R}))$  such that  $\varphi_\alpha(B) = \varphi(B + \alpha)$  for  $B$  in  $\mathcal{B}(\mathbb{R})$ . Then if  $F$  is  $\omega_\varphi$ -integrable then  $F(x + x_0)$  is  $\omega_\varphi$ -integrable of  $x$  and*

$$\begin{aligned}
 (2.6) \quad & \int_{C[0,t]} F(y) \, d\omega_\varphi(y) \\
 & = e^{-\frac{1}{2}\|h\|_2^2} \int_{C[0,t]} F(x + x_0) e^{-\int_0^t h(u) \, dx(u)} d\omega_{\varphi_\alpha}(x) .
 \end{aligned}$$

In [10], we can see the following theorem.

**THEOREM 2.3.** *If  $\alpha < \frac{1}{2}$  and  $\int_{\mathbb{R}} \exp\{4\alpha u^2\} d\varphi(u)$  is finite then*

$$(2.7) \quad \int_{C[0,t]} \exp\left\{\alpha \sup_{0 \leq s \leq t} x(s)^2\right\} dm_\varphi(y)$$

*is finite.*

**F.** In 1987 [1], Chiang, Chow and Lee presented nice evaluation for Wiener functional as follows ;

**THEOREM 2.4.** *For any real number  $a$ ,*

$$\begin{aligned}
 (2.8) \quad & \int_{C_0[0,1]} \exp\left\{-\frac{a^2}{2} \int_0^1 x(s)^2 ds\right\} dm_w(x) \\
 & = (\cosh a)^{-\frac{1}{2}}
 \end{aligned}$$

is finite.

### 3. The main results

In this section, we investigate the integral of functionals such as  $F(x) = (\int_0^t x(s)^2 dm_L(s))^n$  and  $G(x) = \exp\{\lambda \int_0^t x(s)^2 dm_L(s)\}$  and we give some corollaries, follows from our results.

LEMMA 3.1. *Let  $0 = s_0 < s_1 < s_2 < \dots < s_n = t$ . Suppose  $u_0^{2n}$  is  $\varphi$ -integrable. Then*

$$\begin{aligned}
 (3.1) \quad & \int_{C[0,t]} \prod_{j=1}^n x(s_j)^2 d\omega_\varphi(x) \\
 &= \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(n - \sum_{j=1}^n k_j)!(2n - 2 \sum_{j=1}^n k_j - 1)!! \prod_{j=1}^n k_j!} \right. \\
 & \quad \left. \times \prod_{j=1}^n (s_j - s_{j-1})^{k_j} \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0) \right\}
 \end{aligned}$$

*Proof.* By the following equalities, our lemma is proved.

$$\begin{aligned}
 & \int_{C[0,t]} \prod_{j=1}^n x(s_j)^2 d\omega_\varphi(x) \\
 & \stackrel{(1)}{=} \int_{\mathbb{R}} \left\{ \int_{\mathbb{R}^n} \dots \int_{\mathbb{R}^n} \left[ \prod_{j=1}^n 2\pi(s_j - s_{j-1}) \right]^{-\frac{1}{2}} \left[ \prod_{j=1}^n u_j^2 \right] \exp\left\{-\frac{1}{2} \sum_{j=1}^n \frac{(u_j - u_{j-1})^2}{s_j - s_{j-1}}\right\} \right. \\
 & \quad \left. d\left(\prod_{j=1}^n m_L\right)(u_1, u_2, \dots, u_n) \right\} d\varphi(u_0) \\
 & \stackrel{(2)}{=} \sum_{k_n=0}^1 \sum_{k_{n-1}=0}^{2-k_n} \dots \sum_{k_1=0}^{n-\sum_{j=2}^n k_j} \frac{2!}{(2-2k_n)!} \frac{(4-2k_n)!}{(4-2k_n-2k_{n-1})!} \\
 & \quad \dots \frac{(2n-2\sum_{j=2}^n k_j)!}{(2n-2\sum_{j=1}^n k_j)!} \frac{\prod_{j=1}^n (s_j - s_{j-1})^{k_j}}{\prod_{j=1}^n (2k_j)!} \int_{\mathbb{R}} u_0^{2n-2\sum_{j=1}^n k_j} d\varphi(u_0) \\
 & \stackrel{(3)}{=} \sum'_{k,n} 2! \frac{(4-2k_n)!}{(2-2k_n)!} \frac{(6-2k_n-2k_{n-1})!}{(4-2k_n-2k_{n-1})!} \dots \frac{(2n-2\sum_{j=2}^n k_j)!}{(2n-2-2\sum_{j=2}^n k_j)!} \\
 & \quad \times \frac{\prod_{j=1}^n (s_j - s_{j-1})^{k_j}}{(2n-2\sum_{j=1}^n k_j)! \prod_{j=1}^n (2k_j)!} \int_{\mathbb{R}} u_0^{2n-2\sum_{j=1}^n k_j} d\varphi(u_0)
 \end{aligned}$$

$$\begin{aligned} &\stackrel{(4)}{=} \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(n - \sum_{j=1}^n k_j)!(2n - 2 \sum_{j=1}^n k_j - 1)!! \prod_{j=1}^n k_j!} \right. \\ &\quad \left. \times \frac{\prod_{j=1}^n (s_j - s_{j-1})^{k_j}}{\prod_{j=1}^n (2k_j - 1)!!} \right\} \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0). \end{aligned}$$

Step (1) results from Theorem 2.2. By the equality (1) in  $B$  of section 2, we obtain Step (2). Step (3) follows from the notation  $\mathbf{D}$  of section 2. From the elementary calculus,  $(2l)! = 2^l l!(2l - 1)!!$  and  $(2l)!! = 2^l l!$ , we have Step (4).  $\square$

**THEOREM 3.2.** *Let  $F(x) = (\int_0^t x(s)^2 dm_L(s))^n$  on  $C[0, t]$  where  $n$  is a natural number. Suppose  $u_0^{2n}$  is  $\varphi$ -integrable. Then*

$$\begin{aligned} (3.2) \quad &\int_{C[0,t]} F(x) d\omega_\varphi(x) \\ &= n! \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(n + \sum_{j=1}^n k_j)!(n - \sum_{j=1}^n k_j)!(2n - 2 \sum_{j=1}^n k_j - 1)!!} \right. \\ &\quad \left. \times \frac{t^{n+\sum_{j=1}^n k_j}}{\prod_{j=1}^n (2k_j - 1)!!} \right\} \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0). \end{aligned}$$

*Proof.* For  $1 \leq i, j \leq n$  with  $i \neq j$ , let  $D_{i,j} = \{(s_1, s_2, \dots, s_n) \in [0, t]^n | s_i = s_j\}$  and let  $s_0 = 0$ . Then by the Fubini's theorem  $D_{i,j}$  is  $\prod_{k=1}^n m_L$ -null set. For a permutation  $\sigma$  on  $\{1, 2, \dots, n\}$ , let  $\Delta_\sigma = \{(s_1, s_2, \dots, s_n) \in [0, t]^n | 0 < s_{\sigma(1)} < s_{\sigma(2)} < \dots < s_{\sigma(n)} \leq t\}$  and let  $\Delta_n^t = \Delta_I$  where  $I$  is an identity permutation on  $\{1, 2, \dots, n\}$ . Then  $[0, t]^n = [\cup_\sigma \Delta_\sigma] \cup [\cup_{\substack{0 \leq i, j \leq n \\ i \neq j}} D_{i,j}]$  and for any permutation  $\sigma$  on  $\{1, 2, \dots, n\}$ ,

$$\begin{aligned} &\int_{\Delta_n^t} \prod_{j=1}^n x(s_j)^2 d(\prod_{k=1}^n m_L)(s_1, s_2, \dots, s_n) \\ &= \int_{\Delta_\sigma} \prod_{j=1}^n x(s_j)^2 d(\prod_{k=1}^n m_L)(s_1, s_2, \dots, s_n) \end{aligned}$$

holds for all  $x$  in  $C[0, t]$ .

From Tonelli's theorem, Theorem 2.1 and **C** in section 1, we have

$$\begin{aligned}
 & \int_{C[0,t]} F(x) d\omega_\varphi(x) \\
 &= \int_{C[0,t]} \int_{[0,t]^n} \prod_{j=1}^n x(s_j)^2 d(\prod_{j=1}^n m_L)(s_1, s_2, \dots, s_n) d\omega_\varphi(x) \\
 &= \int_{C[0,t]} n! \int_{\Delta_n^t} \prod_{j=1}^n x(s_j)^2 d(\prod_{j=1}^n m_L)(s_1, s_2, \dots, s_n) d\omega_\varphi(x) \\
 &= n! \int_{\Delta_n^t} \int_{C[0,t]} \prod_{j=1}^n x(s_j)^2 d\omega_\varphi(x) d(\prod_{j=1}^n m_L)(s_1, s_2, \dots, s_n) \\
 &= n! \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(n + \sum_{j=1}^n k_j)!(n - \sum_{j=1}^n k_j)!(2n - 2 \sum_{j=1}^n k_j - 1)!!} \right. \\
 & \quad \left. \times \frac{t^{n+\sum_{j=1}^n k_j}}{\prod_{j=1}^n (2k_j - 1)!!} \right\} \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0),
 \end{aligned}$$

as desired. □

In Theorem 3.2, putting  $t = 1$  and  $\varphi = \delta_0$ , the Dirac measure at the origin 0 in  $\mathbb{R}$ ,  $\omega_\varphi$  is the concrete Wiener measure on  $C_0[0, t]$ , that is,  $\omega_\varphi = m_w$ ,  $\int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0) = 0$  if  $n \neq \sum_{j=1}^n k_j$  and  $\int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0) = 1$  if  $n = \sum_{j=1}^n k_j$ . So, we have the following corollary.

**COROLLARY 3.3.** *Let  $F(x) = (\int_0^1 x(s) dm_L(s))^n$  on  $C_0[0, 1]$ . Then*

$$\begin{aligned}
 (3.3) \quad & \int_{C[0,1]} F(x) dm_w(x) \\
 &= \frac{1}{2^n(2n - 1)!!} \\
 & \quad \times \sum'_{k,n} \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{\prod_{j=1}^n (2k_j - 1)!!}
 \end{aligned}$$

**THEOREM 3.4.** *Suppose  $\lambda t < \frac{1}{2}$  and  $\exp\{u^{2n}\}$  is  $\varphi$ -integrable on  $\mathbb{R}$  for all natural number  $n$ . Let  $G(x) = \exp\{\lambda \int_0^t x(s)^2 dm_L(s)\}$  on  $C[0, t]$ .*

Then  $G(x)$  is  $\omega_\varphi$ -integrable and

$$\begin{aligned}
 (3.4) \quad & \int_{C[0,t]} G(x) d\omega_\varphi(x) \\
 &= \varphi(\mathbb{R}) + \sum_{n=1}^{\infty} \lambda^n \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)\}}{(n + \sum_{j=1}^n k_j)!(n - \sum_{j=1}^n k_j)!} \right. \\
 & \quad \times \frac{(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(2n - 2 \sum_{j=1}^n k_j - 1)!! \prod_{j=1}^n (2k_j - 1)!!} t^{n + \sum_{j=1}^n k_j} \left. \right\} \\
 & \quad \times \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0)
 \end{aligned}$$

*Proof.* If  $\lambda \leq 0$  then clearly  $G(x)$  is  $\omega_\varphi$ -integrable. Suppose  $\lambda$  is a positive real number. Putting  $\lambda t = \alpha$  in Theorem 2.4, since  $\exp\{4\lambda t u^2\}$  is  $\varphi$ -integrable,

$$\begin{aligned}
 & \int_{C[0,t]} G(x) d\omega_\varphi(x) \\
 & \leq \int_{C[0,t]} \exp\{\lambda t \sup_{0 \leq s \leq t} x(s)^2\} d\omega_\varphi(x)
 \end{aligned}$$

is finite, so  $G$  is  $\omega_\varphi$ -integrable.

Moreover, by the dominated convergence theorem, Theorem 3.2 and  $\omega_\varphi(C[0, t]) = \varphi(\mathbb{R})$ ,

$$\begin{aligned}
 & \int_{C[0,t]} G(x) d\omega_\varphi(x) \\
 &= \int_{C[0,t]} \sum_{n=0}^{\infty} \frac{1}{n!} \left( \int_0^t x(s)^2 dm_L(s) \right)^n d\omega_\varphi(x) \\
 &= \varphi(\mathbb{R}) + \sum_{n=1}^{\infty} \frac{\lambda^n}{n!} \int_{C[0,t]} \left( \int_0^t x(s)^2 dm_L(s) \right)^n d\omega_\varphi(x) \\
 &= \varphi(\mathbb{R}) + \sum_{n=1}^{\infty} \lambda^n \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)\}}{(n + \sum_{j=1}^n k_j)!(n - \sum_{j=1}^n k_j)!} \right. \\
 & \quad \times \frac{(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(2n - 2 \sum_{j=1}^n k_j - 1)!! \prod_{j=1}^n (2k_j - 1)!!} t^{n + \sum_{j=1}^n k_j} \left. \right\} \\
 & \quad \times \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi(u_0),
 \end{aligned}$$

as desired. □



In Theorem 2.3 of section 2, putting  $h(u) = 0$  on  $[0, t]$ , if  $F$  is  $\omega_{\varphi-\alpha}$ -integrable then  $F(x + \alpha)$  is  $\omega_{\varphi-\alpha}$ -integrable and

$$\int_{C[0,t]} F(x) d\omega_{\varphi-\alpha}(x) = \int_{C[0,t]} F(x + \alpha) d\omega_{\varphi}(x).$$

Using this, we can prove the following corollary.

**COROLLARY 3.5.** *Suppose  $\lambda t < \frac{1}{2}$  and  $\exp\{u^{2n}\}$  is  $\varphi_{-\alpha}$ -integrable where  $\alpha$  is a real number. Let  $G(x) = \exp\{\lambda \int_0^t (x(s) + \alpha)^2 dm_L(s)\}$  on  $C[0, t]$ . Then  $G(x)$  is  $\omega_{\varphi}$ -integrable and*

$$\begin{aligned} (3.5) \quad & \int_{C[0,t]} G(x) d\omega_{\varphi}(x) \\ &= \varphi(\mathbb{R}) + \sum_{n=1}^{\infty} \lambda^n \sum'_{k,n} \left\{ \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)\}}{(n + \sum_{j=1}^n k_j)!(n - \sum_{j=1}^n k_j)!} \right. \\ & \quad \times \frac{(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{(2n - 2 \sum_{j=1}^n k_j - 1)!! \prod_{j=1}^n (2k_j - 1)!!} t^{n + \sum_{j=1}^n k_j} \left. \right\} \\ & \quad \times \int_{\mathbb{R}} u_0^{2n-2 \sum_{j=1}^n k_j} d\varphi_{-\alpha}(u_0) \end{aligned}$$

In Theorem 3.4, putting  $t = 1$  and  $\varphi = \delta_0$ , we have the following corollary by Theorem 2.4.

**COROLLARY 3.6.** *For any positive real number  $\lambda$ .*

$$\begin{aligned} & \int_{C_0[0,1]} \exp\{-\lambda \int_0^1 x(s)^2 dm_L(s)\} dm_w(x) \\ &= 1 + \sum_{n=1}^{\infty} \frac{\lambda^n}{n! 2^n (2n - 1)!!} \\ & \quad \times \sum'_{k,n} \frac{\prod_{l=2}^n \{(l - \sum_{j=n+2-l}^n k_j)(2l - 2 \sum_{j=n+2-l}^n k_j - 1)\}}{\prod_{j=1}^n (2k_j - 1)!!} \\ &= (\cosh \sqrt{2\lambda})^{-\frac{1}{2}}. \end{aligned}$$

**References**

[1] T. S. Chiang, Y. Chow and Y. J. Lee, *A formula for  $E_W \exp\{-2^{-1} a^2 \|x+y\|_2^2\}$* , Proc. Amer. Math. Soc. **100** (1987), 721-724.  
 [2] C. George, *Exercises in integration*, Springer-Verlag New York, 1984.

- [3] K. S. Ryu and M. K. Im, *A measure-valued analogue of Wiener measure and the measure-valued Feynman-Kac formula*, Trans. Amer. Math. Soc. **354** (2002), 4921-4951.
- [4] K. S. Ryu and M. K. Im, *An analogue of Wiener measure and its applications*, J. Korean Math. Soc. **39** (2002), 801-819.
- [5] K. S. Ryu, *The operational calculus for a measure-valued Dyson series*, J. Korean Math. Soc. **43** (2006), 703-715.
- [6] K. S. Ryu, *The Dobrakov integral over paths*, J. Chungcheong Math. Soc. **19** (2006), 61-68.
- [7] K. S. Ryu and M. K. Im, *The measure-valued Dyson series and its stability theorem*, J. Korean Math. Soc. **43** (2006), 461-489.
- [8] K. S. Ryu, *The simple formula of conditional expectation on analogue of Wiener measure*, Honam Math. J. **30** (2008), 723-732.
- [9] K. S. Ryu and S. H. Shim, *The rotation theorem on analogue of Wiener measure*, Honam Math. J. **29** (2007), 577-588.
- [10] K. S. Ryu, *The generalized Fernique's theorem for analogue of Wiener measure space*, J. Chungcheong Math. Soc. **22** (2009), 743-748.
- [11] N. Wiener, *Differential space*, J. Math. Phys. **2** (1923), 131-174.

\*

Department of Mathematics Educations  
Hannam University  
Daejeon 306-791, Republic of Korea  
*E-mail*: ksr@hnu.kr